
MW60012K
000000

Reference |000000 ﾍﾟｰｼﾞ 

78

75

77
76
74

73

72

71

68

69
70

67

79

67

74
73

72
71

68
69

70 66

65
64

76
77

75

78

55

53

54

56
57

57
58

60
61

32
34

33
35

27

28
29

31
30

25
24

26

36

23
7

39

38

51
52

50

41
40 11

10
9 8

26
24

25
30

31
29

28
27

33
34

15

14
6

3
4

2

37 5

11

13

12 16

3

17

21
22

20

19
18

32

80

83

81

82

44
43

42

45

46
49

47
48

63
62

63
59

61
60 89

90

91

93

96

94

95

92

85

87

88

86

84

15A



MW60012K
MW60012K

Reference |000000 ﾍﾟｰｼﾞ 

記号
見出
番号

部品
番号

代替
コード

部品名称 個数 規格 備考 ﾒｰｶｰｺｰﾄﾞ

 1 357632 MW60012K 1
 2 125657 ﾈｰﾑﾌﾟﾚｰﾄ 1 MW60012K MW60012K  
 3 117781 ﾊﾘﾏｰｸ 1 ｾﾂﾄﾁﾕｳｲ ｾﾂﾄﾁﾕｳｲ  
 4 117812 ﾊﾘﾏｰｸ(ｾｲｿﾞｳﾓﾄ ｴｸｾﾙ) 1 ｾｲｿﾞｳﾓﾄ(ｴｸｾﾙ) ｾｲｿﾞｳﾓﾄ(ｴｸｾﾙ)  
 5 054365 ﾊﾘﾏｰｸ 1 ﾔｼﾞﾙｼ ﾔｼﾞﾙｼ  
 6 101388 ﾁﾕｳｲﾏｰｸ 1    
 7 126256 ｹｲｺｸﾗﾍﾞﾙ 1 ｱｲﾎﾞﾙﾄ ｱｲﾎﾞﾙﾄ  
 8 106127 ｸﾗﾝｸｹｰｽﾏﾄﾒ 1  9～11ﾌｸﾑ  
 9 126553 ｳｴｺﾐﾎﾞﾙﾄ 6 M16X42X32X30 M16X42X32X30  
 10 043282 ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ 2 10X18 AW 10X18AW  
 11 126743 ｱｲﾎﾞﾙﾄ 1 M12 M12  
 12 091264 ﾁﾕｳﾕｺｳﾌﾀﾏﾄﾒ 1 W35.85 13ﾌｸﾑ  
 13 014177 Oﾘﾝｸﾞ P35 1 P35 1ｼﾕA P35  
 14 029438 ｸﾗﾝｸｹｰｽﾌﾀ 1 P/N106130   
× 15 (029439) ｸﾗﾝｸｹｰｽﾌﾀﾊﾟﾂｷﾝ 1 0.5T ～2009年5月  
 15A 129386 ﾊﾟﾂｷﾝ 1 T1.15 2009年6月～  
 16 091194 ｵｲﾙｹﾞｰｼASSY 1 ﾊﾟﾂｷﾝﾂｷ 17ﾌｸﾑ  
 17 103686 ｺﾞﾑﾏﾙﾊﾟﾂｷﾝ 1 18.5X24XT2   
 18 091376 ﾌﾟﾗｸﾞﾏﾄﾒ 1 G1/4 19ﾌｸﾑ  
 19 023170 Oﾘﾝｸﾞ P12.5 1 P12.5 P12.5  
 20 126531 6ｶｸﾎﾞﾙﾄ 8 M10X30 M10X30  
 21 126574 ﾋﾗｻﾞｶﾞﾈ 8 M10 ｺｶﾞﾀﾏﾙ M10  
 22 126231 ﾊﾞﾈｻﾞｶﾞﾈ 8 M10 2ｺﾞｳ M10  
 23 029440 ｸﾗﾝｸｼﾞｸ 1 ｿｻﾞｲ106131 60F   
 24 029442 ﾍﾞｱﾘﾝｸﾞｹｰｽ 2 60F   
 25 029441 ﾍﾞｱﾘﾝｸﾞ 2 NF411 NF411  
 26 029444 Oﾘﾝｸﾞ 160X3 2 160X3 160X3  
 27 029443 ｵｲﾙｼｰﾙｹｰｽ 2 P/N106135   
 28 011443 ｵｲﾙｼｰﾙ D557812 2 D557812 D557812  
 29 029444 Oﾘﾝｸﾞ 160X3 2 160X3 160X3  
 30 126594 ﾋﾗｻﾞｶﾞﾈ 2 120X139.5XT0.3 120X139.5XT0.3  
 31 126595 ﾋﾗｻﾞｶﾞﾈ 2 120X139.5XT0.5 120X139.5XT0.5  
 32 126532 6ｶｸﾎﾞﾙﾄ 8 M10X40 M10X40  
 33 126574 ﾋﾗｻﾞｶﾞﾈ 8 M10 ｺｶﾞﾀﾏﾙ M10  
 34 126231 ﾊﾞﾈｻﾞｶﾞﾈ 8 M10 2ｺﾞｳ M10  
 35 029445 ﾌﾟﾛﾃｸﾀｰ 1 P/N114974   
 36 126612 ｺﾝﾛﾂﾄﾞｸﾐﾀﾃ 3    
 37 126560 ｻﾞｶﾞﾈ 3    
 38 106137 ﾌﾟﾗﾝｼﾞﾔﾏﾄﾒ 3    
 39 029481 ﾋﾟｽﾄﾝﾋﾟﾝ 3 26X59 26X59  
 40 126588 ﾋﾗｻﾞｶﾞﾈ 3 50X62XT1.2 50X62XT1.2  
 41 029454 ｵｲﾙｼｰﾙ S256210 3 S256210 S256210  
 42 044752 ｺﾞﾑﾏﾙﾊﾟﾂｷﾝ 3 24X54XT4 24X54XT4  
 43 089783 ｳｴｺﾐﾎﾞﾙﾄ 3 M14X1.5X149X18X M14X1.5X149X18X15  
 44 045677 ﾜﾂｼﾔ 3 14X24XT0.5 14X24XT0.4  
 45 122323 ｽﾘｰﾌﾞ 3 45X185 45X185  
 46 044750 ﾌﾟﾗｸﾞ 3 M14X1.5 M14X1.5  
 47 017616 Oﾘﾝｸﾞ 3 P21 P21  
 48 020214 ﾊﾞﾂｸｱﾂﾌﾟﾘﾝｸﾞ 3 P21 ﾊﾞｲｱｽｶﾂﾄ P21ﾊﾞｲｱｽｶﾂﾄ  
 49 044751 ﾋﾗｻﾞｶﾞﾈ 3 25X30X0.5T 25X30X0.5T  
 50 044760 855000 ｼｰﾙﾊﾟﾂｷﾝｵｻｴﾏﾄﾒ 3    
 51 045637 ｶﾗｰ 3 47X70X13ﾀﾞﾝﾂｷ 47X70X13ﾀﾞﾝﾂｷ  
 52 045638 ﾌｴﾙﾄﾊﾟﾂｷﾝ 3 44X65X91XT5 44X65X91XT5  



MW60012K
MW60012K

Reference |000000 ﾍﾟｰｼﾞ 

記号
見出
番号

部品
番号

代替
コード

部品名称 個数 規格 備考 ﾒｰｶｰｺｰﾄﾞ

 53 125653 ﾏﾆﾎﾙﾄﾞA 1    
 54 044756 ﾍｲｺｳﾋﾟﾝ 2 10X45 M6B 10X45 M6B  
 55 106147 UﾊﾟﾂｷﾝB 3 45   
 56 122327 ﾒｽｱﾀﾞﾌﾟﾀ 3 45X60XT7 45X60XT7  
 57 104450 Vﾊﾟﾂｷﾝ 6 44.7X60.5X7   
 58 122328 ｵｽｱﾀﾞﾌﾟﾀ 3 47.5X57.5XT6 47.5X57.5XT6  
 59 122330 ｱﾀﾞﾌﾟﾀﾏﾄﾒ 3    
 60 018176 Oﾘﾝｸﾞ 6 G55 G55  
 61 023115 ﾊﾞﾂｸｱﾂﾌﾟﾘﾝｸﾞ 6 G55 ﾊﾞｲｱｽｶﾂﾄ G55ﾊﾞｲｱｽｶﾂﾄ  
 62 106156 ﾚﾝﾂｳｶﾝ 3    
 63 018174 Oﾘﾝｸﾞ G45 6 G45 G45  
△ 64 088853 6ｶｸﾅﾂﾄ 6 M16(ISO) M16(ISO)  
 65 126569 ﾊﾞﾈｻﾞｶﾞﾈ 6 M16 2ｺﾞｳ M16  
 66 128287 ﾏﾆﾎﾙﾄﾞB 1    
 67 122350 ﾍﾞﾝｸﾐﾀﾃ 6  68～73ﾌｸﾑ  
 68 122335 ﾍﾞﾝｻﾞ 6    
 69 018175 Oﾘﾝｸﾞ 6 G50 1ｼﾕA G50  
 70 023110 ﾊﾞﾂｸｱﾂﾌﾟﾘﾝｸﾞ 6 G50 ﾊﾞｲｱｽｶﾂﾄ G50ﾊﾞｲｱｽｶﾂﾄ  
 71 104456 ﾍﾞﾝ 6    
 72 104457 ｱﾂｼﾕｸｺｲﾙﾊﾞﾈ 6 2.9-40L   
 73 122336 ﾍﾞﾝｻﾂｸ 6    
 74 088585 ｻﾗﾊﾞﾈ 6 ｶﾞｲｹｲﾖﾋﾞH40 ｶﾞｲｹｲﾖﾋﾞH40  
 75 128289 ﾌﾟﾗｸﾞ 6    
 76 018176 Oﾘﾝｸﾞ 6 G55 G55  
 77 023115 ﾊﾞﾂｸｱﾂﾌﾟﾘﾝｸﾞ 6 G55 ﾊﾞｲｱｽｶﾂﾄ G55ﾊﾞｲｱｽｶﾂﾄ  
 78 048573 6ｶｸｱﾅﾂｷﾎﾞﾙﾄ 24 M16X35 M16X35  
 79 089694 6ｶｸｱﾅﾂｷﾎﾞﾙﾄ 8 M16X110 M16X110  
 80 126787 ﾚｰﾙ 1    
 81 126569 ﾊﾞﾈｻﾞｶﾞﾈ 4 M16 2ｺﾞｳ M16  
 82 126742 6ｶｸﾎﾞﾙﾄ 4 M16X45X38 M16X45X38  
 83 029649 ﾃｰﾊﾟｻﾞｶﾞﾈ M16(5ﾟ) 4 ﾖﾋﾞ16-5ﾟ ﾖﾋﾞ16-5ﾟ  
 付属品
 84 029649 ﾃｰﾊﾟｻﾞｶﾞﾈ M16(5ﾟ) 4 ﾖﾋﾞ16-5ﾟ ﾖﾋﾞ16-5ﾟ  
 85 089766 ｶｸｻﾞｶﾞﾈ 8 M12 2ｺﾞｳ M12  
 86 089763 6ｶｸﾎﾞﾙﾄ 4 M12X65 M12X65  
 87 089764 6ｶｸﾅﾂﾄ 4 M12 M12  
 88 126570 ﾊﾞﾈｻﾞｶﾞﾈ 8 M12 2ｺﾞｳ M12  
 オプション
 89 106164 ﾌﾗﾝｼﾞ 1    
 90 018694 Oﾘﾝｸﾞ P46 1 P46 P46  
 91 088400 6ｶｸｱﾅﾂｷﾎﾞﾙﾄ 4 M12X80 M12X80  
 92 117783 ﾄﾘｱﾂｶｲｾﾂﾒｲｼﾖMWﾌﾟﾗﾝｼﾞﾔ 1 MW230   
 93 126787 ﾚｰﾙ 1    
 94 126569 ﾊﾞﾈｻﾞｶﾞﾈ 4 M16 2ｺﾞｳ M16  
 95 126742 6ｶｸﾎﾞﾙﾄ 4 M16X45X38 M16X45X38  
 96 029649 ﾃｰﾊﾟｻﾞｶﾞﾈ M16(5ﾟ) 4 ﾖﾋﾞ16-5ﾟ ﾖﾋﾞ16-5ﾟ  


